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Is Section Default? : null

Question Id : 92090611852 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

T fAw BHRT AP Ud 81 1929 A P H1 TP Hgdqul HTUYH AR A Id 7 &
PR g u1, forrd Tifa diew faas oIk MEd SR Adrsf @1 omeRl ion | &Y 3
YR B U 9 3fIelg 41 FiefE B33 &1 uiaq &1 4i i 99 d& 320 $1 gof Taredi=an =g
e ST, SHR SRHE ifd 3R 3 &1 919 =121 <71 3 Ui &1 89 HRAdRi 8 a9 26
Sl &1 APeTl B geld o, b g1 xS quf Wredl=ar a1 91 1@ | 371 €1 e,
341 26 TG, 1950 P, TSIl FHT= & &1¢ YR &1 941 idy™ IR <1 H ar] faear man|
U G O URd & URE &1 UGS 9t 591 T SR A0 SfUH & o UR S &
YA &1 B YE G| 3, 26 S &1 faA TM0rdA gy Am 8 YR Sl 8 | 26 SHad
SHRI AP Ud g, Sl YRd 1 guf wWrefi=ar &1 Udie g | 391 Adeiie s Ifia wed 7l

Sub questions

Question Number : 1 Question Id : 92090611853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hfaem & Fmfar g

(1) Here e (2) THEER A

() FR faEE (4) &gl i
Options :

92090646801. 1
92090646802. 2
92090646803. 3
92090646804. 4

Question Number : 2 Question Id : 92090611854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd $I Wdadl &d U g3?
(1) 14 3T 1947 (2) 15 SFTE 1949
(3) 15 3R 1947 (4) 14 3FT 1949

Options :



92090646805. 1
92090646806. 2
92090646807. 3
92090646808. 4

Question Number : 3 Question Id : 92090611855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TurcH ferent A faran 87

(1) TSI} & wyd demE 3t
@ fafew amea @

(3)  URdEdl SR gl

(4) AT TEcEdr 3R gul e

Options :

92090646809. 1
92090646810. 2
92090646811. 3
92090646812. 4

Tt et

Question Number : 4 Question Id : 92090611856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) Hdl-guT & (2) TSRO &I
(3)  HIfdBIRG B (4) HE-HEG B
Options :

92090646813. 1
92090646814. 2
92090646815. 3
92090646816. 4

Question Number : 5 Question Id : 92090611857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hfaur ¥ 8 Agc =16l fean mam

(M e s

@ i sfer @t sredl
(3) Ot sfier! #t e
(@) e

Options :

92090646817. 1
92090646818. 2
92090646819. 3
92090646820. 4

Question Id : 92090611852 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

TR f3aw SHRT AP Ud §1 1929 # DU $T Ub Head gyl AU aeR # Il 7t &
PR g U1, forrd Wi dieu fads oIk Mad S Adisf &1 el IRon 4 &9y A
YR &1 QUi ¥ 3fTelg 1 Wi & &1 ufas &1 4 i o 9@ 320 &1 gof arefar =gt
ot Sircht, SR SrHE ifd SiR 34 &1 919 w18l o | 33 ufas &1 g9 HRdaRi &R 9y 26
SE] BT APeES BEAP Ge0d ¢, &b 1 S &1 quf WIefiar JeT g1 3@ | 31 81 e,
34l 26 ST, 1950 B, ISl e & &g WRd &1 =41 WAy IR 1 § @r] faar
2 ARG 9§ URd & URE &I UGS it 361 T SR A0 S 3UH & o uR S &
A &1 HH Y g3 3(ct;, 26 SFaR] B1 & T10rea [3aq A8 8 YHRI 1dl & | 26 Sad
SHRI AP Ud g, Sl YRd 1 ol wrefi=dr &1 Udie g | 391 Udeiie sk Ifia wed g1

Sub questions

Question Number : 1 Question Id : 92090611853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wfaym & fFmfar g

(1) Heren i (2) TEIE AT
3) 3R sfdEE (4) eqyan s
Options :

92090646801. 1
92090646802. 2
92090646803. 3
92090646804. 4



Question Number : 2 Question Id : 92090611854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR &I WiFdl &d Ul g3?

(1) 14 37X 1947 (2) 15 3T 1949
(3) 1537 1947 (4) 14 3T¥d 1949
Options :

92090646805. 1
92090646806. 2
92090646807. 3
92090646808. 4

Question Number : 3 Question Id : 92090611855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRl faraent arg e g2
(1) ST & 5yg TS i
@  fofew srem 9t

(3)  OdHdr SR g
(4) ARG Tacidn 3R quf e

Options :

92090646809. 1
92090646810. 2
92090646811. 3
92090646812. 4

Question Number : 4 Question Id : 92090611856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  Hol-uur (2) AGENRUl &l
(3)  whifderiar & (4) NG-H1g Bl
Options :

92090646813. 1
92090646814. 2



92090646815. 3
92090646816. 4

Question Number : 5 Question Id : 92090611857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hfaem # {68 mea =8 i man
(1 afen &
@ Aniie sferl @ srerdd
@) it sfierl &t e
(@)  urfFRTeE

Options :

92090646817. 1
92090646818. 2
92090646819. 3
92090646820. 4

Sub-Section Number : 2
Sub-Section Id : 920906390
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090611858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad € afg € @1 g gl

(1) ey (2) Hed
(3) SR @) oA
Options :

92090646821. 1
92090646822. 2
92090646823. 3
92090646824. 4

Question Number : 6 Question Id : 92090611858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Froafafaa § 9 gl 9y &1 g gl

(1)  3ged () Hed
(3) S 4) oA
Options :

92090646821. 1
92090646822. 2
92090646823. 3
92090646824. 4

Question Number : 7 Question Id : 92090611859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt | & gy &t 1 @1 fiyar S

gait-1 Weg At -1
(A) T (1) dgdife ga™
(B) TR () ey 9T
(€ Qe () TS T
(D) TERY av) fe wr
13 Gy o fased! & 9 wel I &1 =90 B
(10 A)-O, @)-(1), (©)-(1V), (D)-(1)
2 (A)-n, (B)-(m), (Q)-(V), (D)-()
3} (A)-(n, (B)-(V), (O)-(), (D)-()

)

(4)  (A)-(), (B)-(In), (C)-(V), (D)-(1)

Options :

92090646825. 1
92090646826. 2
92090646827. 3
92090646828. 4

Question Number : 7 Question Id : 92090611859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 1 % gt 11 &1 iy Fifeg

el W8 T -1 JHE
(A) n sgdife Ta
(B) TR () gty TaTy
(€ e () TS T
(D) @R (av) & s
e fgu e fawmedi & @ |l I &1 994 Bifon:

(M (A)-(), (B)-(11), (C)-(IV), (D)-(1I)
(2)  (A)-(), (B)-(li), (C)-(IV), (D)-(1)
(30 (A)-(), (B)-(1V), (C)-(1}, (D)-(11)
(4)  (A)-(m), (B)-(In), (C)-(V), (D)-(1)

Options :

92090646825. 1
92090646826. 2
92090646827. 3
92090646828. 4

Question Number : 8 Question Id : 92090611860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"3 3T, I Wig' diepifad w149t 31 €

(1) REePEAE

(2) @R 3R ST & BieS
(3)  3MUfd & M IR YO HAT
(4)  WBH BT R Bd

Options :

92090646829. 1
92090646830. 2
92090646831. 3
92090646832. 4

Question Number : 8 Question Id : 92090611860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"3 3T, I Wig' diepifad w149t 31 €

(1) s sEAag
2) IR 3R HieATS 8 BieS
(3) U & M IR U B
(4) S HH BT B
Options :
92090646829. 1
92090646830. 2

92090646831. 3
92090646832. 4

Question Number : 9 Question Id : 92090611861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFofafad § 9 79® S[ddR &1 Ie 78l 6;

(1) &6 S d 9 T Aeddl HUe™
(2  9gd R FHA Fodn

(3) o ST, 91 3@ o9 &R Tl g

(4) WA WA Blell, AR Yol &

Options :

92090646833. 1
92090646834. 2
92090646835. 3
92090646836. 4

Question Number : 9 Question Id : 92090611861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frofifad & ane SadR H1 360 T8 &:
(1) &b dAD d Gl T Highdl SHiUH™
(2 Yad U FHA Hol
3) dHSRERR, 9 3E dH R S g
(4)  HRI A "R Piell, R gEl 6l

Options :
92090646833. 1



92090646834. 2
92090646835. 3
92090646836. 4

Question Number : 10 Question Id : 92090611862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"FUUTT H1 fadd g

(1) et (2)
(3) HEM (4) Jald
Options :

92090646837. 1
92090646838. 2
92090646839. 3
92090646840. 4

Question Number : 10 Question Id : 92090611862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUUEr I f[ddH &:

(1) et (2)
(3) HEHI (4) JaRd
Options :

92090646837. 1
92090646838. 2
92090646839. 3
92090646840. 4

Question Number : 11 Question Id : 92090611863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ﬂﬁc{msﬂzi—g. dl cot 8 1AM Fd B

12
25
12

G = (4)

(Mm (2)

Lh | El"""



Options :

92090646841. 1
92090646842. 2
92090646843. 3
92090646844. 4

Question Number : 11 Question Id : 92090611863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ﬂﬁm]:ﬂﬂ:;—g. dl cot 8 1AM Fd B

12
25
12

@ - (4)

(Mm

Lh | E]u‘

Options :

92090646841. 1
92090646842. 2
92090646843. 3
92090646844. 4

Question Number : 12 Question Id : 92090611864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U A1 H 32 km/h @1 10 § 96 gU 35 fiFe @1 81 40 kmyh @1 10 | Terd gU aEn o
fasa Ty (fire o) @i

(1) 28 (2) 24
(3) 30 (4) 33
Options :

92090646845. 1
92090646846. 2
92090646847. 3
92090646848. 4

Question Number : 12 Question Id : 92090611864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U A H 32 ke/h 1 710 9 I §U 35 e @71d 1 40 kmyh @1 71 8 F@d g 9B H
fc1 wag (fee ) @

(17 28 (2) 24
(3) 30 4) 33
Options :

92090646845. 1
92090646846. 2
92090646847. 3
92090646848. 4

Question Number : 13 Question Id : 92090611865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST A 7 1,000 SHfFd I D1 TF HAT B U1 S HANTT Gl 15% T x%, HT TH
F3Td BU 3 714 3T | x &1 AF J1d HI|

(1 125 (2) 15
(3) 16 (4 20
Options :

92090646849. 1
92090646850. 2
92090646851. 3
92090646852. 4

Question Number : 13 Question Id : 92090611865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT A % 1,000 Sifdhd Hey B U HHIG W] TU1 & HHANTT Fei 15% adl x%, &1 a1
F31d §U % 714 [T | x &1 AF I1d B

(1) 125 (2) 15
(3) 16 (4) 20
Options :

92090646849. 1
92090646850. 2
92090646851. 3
92090646852. 4



Question Number : 14 Question Id : 92090611866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

24 cm Gdls aUl 6 cm MR B &1 g § &9 U6 O &1 U g1 34 U PR &d gu
38 U Tid H aeadl 8| T S B g

(1) 1cm (2) 2cm
(3)  6cm 4) 8cm
Options :

92090646853. 1
92090646854. 2
92090646855. 3
92090646856. 4

Question Number : 14 Question Id : 92090611866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

24 cm Gdls aUl 6 cm TR B &1 gl § §91 Uh 9% 81 U a1 34 U PR od g
38 U T H deadl g | T 3 B g

(1) 1Tam (2) 2cm
(3) 6cm 4) 8cm
Options :

92090646853. 1
92090646854. 2
92090646855. 3
92090646856. 4

Question Number : 15 Question Id : 92090611867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% 7,700 B T YR =411 R &1 HIT # 59 USR IUR &l 775 b Ugdl U W 5 a9 $T 20%
qIite 1 e U ST aUl gEL HIT W 6 T4 &1 9% dANNP $I a3 U AT &R ol &l Ul H
JYR & 71 R F Bler 4T J1d B

(1) 7 2,400 (2) ¥5,000

(3) ¥ 5,300 (4) T2,700
Options :



92090646857. 1
92090646858. 2
92090646859. 3
92090646860. 4

Question Number : 15 Question Id : 92090611867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 7,700 B TR IR &A1 G &1 HFT H 59 UHR SYR &l 715 [ Ugd YT TR 5 Y $T 20%
qIftia ®1 X | TS aUT GE U W 6 T4 &1 9% dIie i o | &1l aaR g1 &l HFT o
YR &t 73 AR T BleT AT I B

(1) % 2,400 (2) 5,000
(3) ¥ 5,300 (4) 2,700
Options :

92090646857. 1
92090646858. 2
92090646859. 3
92090646860. 4

Question Number : 16 Question Id : 92090611868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T o5 Al & iR -ufvads & St §el 81 s

20+ 20+ 20-20x20=20

(1) + 3R = 2) +3R-
(3) + 3R x (4) x M=+
Options :

92090646861. 1
92090646862. 2
92090646863. 3
92090646864. 4

Question Number : 16 Question Id : 92090611868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gritevur H o fargl & afar-ufvads @ witesor gl 81 sy

20420+ 20-20x20=20

(1) + 3R+ (2) + MR-
3) + 3R x 4) x 3R+
Options :

92090646861. 1
92090646862. 2
92090646863. 3
92090646864. 4

Question Number : 17 Question Id : 92090611869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FofafEa ®H- A1 usaE® = (7) F ™F R @ o J&dl g, 59y - . & 918 ud g
WP U HAH Hay R g1 gH?

5369 :4258 ::9875:7

(1) 8763 (2) 8764
(3) 7764 (4) 7763
Options :

92090646865. 1
92090646866. 2
92090646867. 3
92090646868. 4

Question Number : 17 Question Id : 92090611869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafafEd F9-91 99 vyaEs &% (7) $ ®H W @ o ¥6dl g, 590 - & 90 ud g
TPH U A Y WU 81 ghm?

5369 : 4258 :: 9875 :7

(1) 8763 (2) 8764
(3) 7764 (4) 7763
Options :

92090646865. 1



92090646866. 2
92090646867. 3
92090646868. 4

Question Number : 18 Question Id : 92090611870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feifefe A # A ®e1, & a8 off age1 @d @1 8, a8 W U1 &1 uell-&1 Gt & 2 vzl @ St
£ | 98 Bd e de fde € f5u uer 3 defia &2

M uE (2) w3l (ofiem
3 T (4) HHA
Options :

92090646869. 1
92090646870. 2
92090646871. 3
92090646872. 4

Question Number : 18 Question Id : 92090611870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafelg A A A @el, & 98 o dS1 @d @1 §, 98 W 01 &1 uell-&1 gl & <) wigdl 9 Bie
¢ | 98 §d gl ool Mg 4 vy ver | defia g2

(1) MR (2) s I Gl (Gfem
3 W (4) FHHE
Options :

92090646869. 1
92090646870. 2
92090646871. 3
92090646872. 4

Question Number : 19 Question Id : 92090611871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



39 HYA W [daR fHfor ok a8 7 o & SH-8 gdurt &34 § srafied 87

YA Fefl 7 Hifae! f[awg & srams 1 gifve e gr1 fofag fifkua sie
fopforae &1 U ufd &1 T@4 &1 4wor faa |

A URUIE: | Uds Al J&ds @iig dadl ¢ |
. Qe IRAE |

(1) Ofe Fad qduron | sf=fied

(2) Ofe FHad YEURON 11 =IHed §
@) afgaar 178 srafiea s

(4)  Ife YdyRom | SR 11 ST SF=afied &

Options :

92090646873. 1
92090646874. 2
92090646875. 3
92090646876. 4

Question Number : 19 Question Id : 92090611871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 HYA R [TaR fHfone ofR g8 00 [ & SH-3 qdurt &y 1 srafied 82

YA : Fen | Hifde! favg & srams 3 gifve ARe gr1 fofag fiRda sie
fopTorae @l Ue uid &1 Ta- i Hiwor fea |

A URUIE: | Uds A s @ilg 9adl & |
I, JEad g g |

(1) 3 Had gduron | si=ffed &

(2) dfe Had GhURON || SFf-ied &
@) gieadr 1780 R §

(4) i gdYrRoN | R 1| T sf=IHTRd §
Options :

92090646873. 1
92090646874. 2



92090646875. 3
92090646876. 4

Question Number : 20 Question Id : 92090611872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fu U HYHl & SR W Fgfafad sF-ar ey srERu s
FYT: A SHITEEE T

B. Ol HRfai a1% €|
frepd: || oo oan FREE |

Il. 8 91d Had g |

(1) ol Fsp | S ER Rl 8

2 afe Fsp || SERu BT

3) A Fepy | srar €T 11 SER Hdl @
(4) frepy | R 11 QT SR IR §

Options :

92090646877. 1
92090646878. 2
92090646879. 3
92090646880. 4

Question Number : 20 Question Id : 92090611872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fu U HYHl & SR W Fgfafad sF-ar ey srERu s
FYT: A SHITEEE T

B. Ol HRfai a1% €|
frepd: || oo oan FREE |

Il. 8 91d Had g |

(1) e sy | o R FRar g

2 afe Fsp || SERu BT

3) A Fepy | srar €T 11 SER Hdl @
(4) frepy | R 11 QT SR IR §

Options :

92090646877. 1
92090646878. 2
92090646879. 3
92090646880. 4

Question Number : 21 Question Id : 92090611873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ry ud i =dl & wea 1, S fauTee & &0 § &1 #3182

(1)  3RIg udd avft (2) PEe versal
(3)  fdeg goft @) HIgSI ygIsal
Options :

92090646881. 1
92090646882. 2
92090646883. 3
92090646884. 4

Question Number : 21 Question Id : 92090611873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ry ud 7 7 & Hed B, e {Ayeis & U H ST R 82

(1) 3RIael gdd it 2) PRrarfes ugiagi
(3)  fdem goft 4) HdgS ugieal
Options :

92090646881. 1
92090646882. 2
92090646883. 3
92090646884. 4

Question Number : 22 Question Id : 92090611874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & a1 g 11 B e Sifoe

-1 (GiHf & =) Tdl -l (R srfogaRT &

fafae &)

() fTa SreE |l 1) HWRe TEHE  (FfE
ATHA)

®) e wfafa () HRd & APE ISAF H
GYUR BT

(€) UH IR g4 ufafa ) =red A

(D) Tgddl afAfa (V) ISR SRy ST GIe

2 fdu e fasedi § 9 9l IR &1 98- DifIg;

(1) (A)-(), (B)-(liT), (C)-(IV), (D)-(1)
(2) (A1), B)-(1V), (C)-(In), (D)-(IN)
(3)  (A)-(V), (B)-(1), (O)-(1), (D)-(1N)
@ (A)-1V), (B)-(1), (C)-(1), (D)-(1)

Options :

92090646885. 1
92090646886. 2
92090646887. 3
92090646888. 4

Question Number : 22 Question Id : 92090611874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Tl | & 9y = 11 B e S

-1 (Gt & =) Tl -l (MRAE srfogawn &

fafas &)

(A) oW SaE | 1) ®We Ty (Fmd
A1)

®) fovaraffd () HRd & AP IR A
YR HAT

(C) UH IR g4+ afafa ) wed A

(D) dgddl afAfa (V) STSIR SRS ST FTe

412 feu e fasredl & | 9l IR &1 984 DI

(1) (A=, B)-(), (C)-(IV), (D)-(I)
(2) (A1), (B)-(IV), (C)-(1n), (D)-(IN)
(3)  (A)-(V), (B)-(1), (O)-(), (D)-(IN)
4)  (A)-(V), (B)-(1), (C)-(I), (D)-(l1)

Options :

92090646885. 1

92090646886. 2

92090646887. 3
92090646888. 4

Question Number : 23 Question Id : 92090611875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&x o Frofafed few &3 & e TEoit amr gfaw &1 feharagH féan o @1 &2

(1)  Yod ¥IA
(2) USRUK (GaEUTH)
(3)  SrRIca a9 3rgT (ETHEl)
(4) O (I
Options :

92090646889. 1
92090646890. 2
92090646891. 3
92090646892. 4



Question Number : 23 Question Id : 92090611875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&9 ¥ Frgfafed few &3 & foe TEoit amr gfaw &1 faragH i o @ 82

(1) Yod &Y
(2) USRUR (Gar§uH)
(3) ORI aH 3T (MSTHeII)
(4) O @)
Options :

92090646889. 1
92090646890. 2
92090646891. 3
92090646892. 4

Question Number : 24 Question Id : 92090611876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RgsERumE:

HY| ;. UH a8 & GRA S Bl HNfad S & ofer Idifcd axgell d Jarsi &1
3ifcH e Udd T SMIE (GDP) HEaldl ¢ |

®YF I Fad @R IATE (NDP), bl U 3dIE (GDP) Ud WRel Yol IS & Hed g
@REufRy & ged & $4) &1 g9 8|
I HYA & 3{Tclid |, I S0 710 [deedl § ¥ 9l 3 &1 99 $ifelw

(1) Y1 AR TR R
2 @Y1 3R 11 EHE TTad §
(3) DY Ul g, Alhd HYA I Tad §
@) YT TTAd B, AP HYT 11 TS B

Options :

92090646893. 1
92090646894. 2
92090646895. 3
92090646896. 4



Question Number : 24 Question Id : 92090611876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RgsERumE:

HY| ;. UH a8 & GRA S Bl HNfad S & ofer Idifcd axgell d Jarsi &1
3ifcH e Udd T SMIE (GDP) HEaldl ¢ |

®YF I Fad @R IATE (NDP), bl U 3dIE (GDP) Ud WRel Yol IS & Hed g
@REufRy & ged & $4) &1 g9 8|
I HYA & 3{Tclid |, I S0 710 [deedl § ¥ 9l 3 &1 99 $ifelw

(1) Y1 AR TR R
2 @Y1 3R 11 EHE TTad §
(3) @Y | Hel g, dihd HYA 11 TTad &
@) YT TTAd B, AP HYT 11 TS B

Options :

92090646893. 1
92090646894. 2
92090646895. 3
92090646896. 4

Question Number : 25 Question Id : 92090611877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd TRBR &1 o UIieq FHfaiad ey defid g2

(1) YduH® Gliger (2) oy fen
(3) ool AfSREA 4) SR 3menid fefored gxaer
Options :

92090646897. 1
92090646898. 2
92090646899. 3
92090646900. 4

Question Number : 25 Question Id : 92090611877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HRd THR $1 oW UIdd Fgfeiad fead ddfta 82

(1) YdaHe Gigar! (2) oy fRen
(3) <ol AfSREA 4) YR 3T fefored gwer
Options :

92090646897. 1
92090646898. 2
92090646899. 3
92090646900. 4

Part B: Electronics Communication and Information Engineering

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

920906236
2

Online
Mandatory
75

75

300

Yes

0

1
920906391
Yes

null

Question Number : 26 Question Id : 92090611878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If u =Iogtan{g + g] then the value of tanh% will be equal to

1. tan®
2. 2tan®
3. tan20
4. tan 2
2
Options :

92090646901. 1



92090646902. 2
92090646903. 3
92090646904. 4

Question Number : 26 Question Id : 92090611878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 3
gfg u:lﬂgtan[% ; E1Eﬁ’ wnhgﬁﬂﬁﬂm?

2)
(1) tan® (2) 2tan®
(3) tan20 (4) tan g
Options :

92090646901. 1
92090646902. 2
92090646903. 3
92090646904. 4

Question Number : 27 Question Id : 92090611879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The required solution of {x2 - y'2 - 22}p+ 2xyq = 2xz, will be
: xz—y2—22=zﬂy!z}
2. x2+y2+22=zﬁyz}
3. x2+y2+Z22==(ylz)

4, x2—y2_22-z(zly)

Options :

92090646905. 1
92090646906. 2
92090646907. 3
92090646908. 4

Question Number : 27 Question Id : 92090611879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

(x2—y2 —22)p+ 2xyq = 2xz F1 ILAF gl T EN?

(M x2—y? -2 -z(ylz) @ x2+y? 2% ==(yz)
3) x2+y2iZ2=z(ylz) @ x2_y2_22=z2(zly)
Options :

92090646905. 1
92090646906. 2
92090646907. 3
92090646908. 4

Question Number : 28 Question Id : 92090611880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1+a 1 1 1

SO © ;
is equal to
1 1 1+¢
1 1 1 1+d
1 i1 3. 13 4
1. —|1+—+—+—+=
abcd( a b c G‘J

2. abcd(1+a+b+c+d)

abcd{1+a+b+c+dl

4. abcd{1+i+i+l+i]
& e d

Options :

92090646909. 1
92090646910. 2
92090646911. 3
92090646912. 4

Question Number : 28 Question Id : 92090611880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

(
M —Jl 119 (2) abecd(1+a+b+c+d)
abed\ & b & )
1.1 % 13
@) (1+a+b+c+d) @ abed1+1 1,1, 1)
abcd o8 Be iy
Options :

92090646909. 1
92090646910. 2
92090646911. 3
92090646912. 4

Question Number : 29 Question Id : 92090611881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a game, the chances of wining of ‘A’and '‘B’is 2 : 3. The chances of wining of
B of at least 3 games out of 5 games played is

1. 34%
2. 68%
3. 40%
4. 32%
Options :

92090646913. 1
92090646914. 2
92090646915. 3
92090646916. 4

Question Number : 29 Question Id : 92090611881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fpeft @a H '4 3R '8’ & offa I GHIETISH BT SFUd 2: 381 OfE paa s @a Qe wE dl '8
& $U Y HH 3 Wd olia- S Juran wfawa o) #ngrfle

(1) 34% @) 68%

(3)  40% @ 32%

Options :
92090646913.
92090646914

92090646915.
92090646916.

AW N =

Question Number : 30 Question Id : 92090611882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Laplace transform and Z-transform are related by

1. &=InZ
InZ
2. S=—
-
4. &=Z
4. S=TinZ
Options :

92090646917. 1
92090646918. 2
92090646919. 3
92090646920. 4

Question Number : 30 Question Id : 92090611882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT TR 3R z-=uiaR o Wefda 82

1)  S=Inz gy gl

T
3] &=2Z 4 S=TInzZ
Options :

92090646917. 1
92090646918. 2



92090646919. 3
92090646920. 4

Question Number : 31 Question Id : 92090611883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 100 uF capacitor (Cy) is initially charged to accumulate150 uC. One
unchanged capacitor (C;) 350 pF is parallelly connected to first one. In steady
state, Cy will have

1. 333 uC

2. 3333 uC

3. 3333 uC

4. 033 pC
Options :

92090646921. 1
92090646922 2
92090646923. 3
92090646924. 4

Question Number : 31 Question Id : 92090611883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U& 100 pF (C;) & Gufea &1 150 puC 1A &1 Tird S & forg urky A smafra faan s

21 TP 350 uF (C,) F AR Juiia &1 ugd Juila & 1y gaiar 9 A SIST ol &
QI R ¢, P A R gm?

(1) 3.33 uC (2} 3333 uC
(3) 3333 pC (4) 033 pnC
Options :

92090646921. 1
92090646922. 2
92090646923. 3
92090646924. 4

Question Number : 32 Question Id : 92090611884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

For the circuit given below, Thevenin's equivalent impedance (Zq,,) of the circuit
is given as
5Q —-50 B/ 50

—AWN—] | mr— —— X
Q2
5020° (~)
B0
o Y
1. 5+j5Q
2. 5-j50
3. j50Q
4. 50
Options :

92090646925. 1
92090646926. 2
92090646927. 3
92090646928. 4

Question Number : 32 Question Id : 92090611884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fau e fagga ufvgy & ufvay & 43717 qea ufterun &1 o= &1 g
50 -5Q 50 -j5O

—o X
50
50h°
BO
o Y
(1) 5+j50Q (2 5-j50
3) Jj5G 4 50

Options :

92090646925. 1
92090646926. 2
92090646927. 3
92090646928. 4



Question Number : 33 Question Id : 92090611885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the circuit shown in the figure, the inductance across X-Y'is

2H
X o i} ,
M
2H g 2H

Y o
1 1H
2 0DaH
3. 18H
4. 2H

Options :

92090646929. 1
92090646930. 2
92090646931. 3
92090646932. 4

Question Number : 33 Question Id : 92090611885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

few o fagga ulay & x-v & &9 IRea &1 9 | 8

2H
Xo i)
2H 2H
Yo
(1) 1H (2) 08H
(3) 18 H 4 2H

Options :



92090646929. 1
92090646930. 2
92090646931. 3
92090646932. 4

Question Number : 34 Question Id : 92090611886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Value of R such that the circuit, shown below, is resonant
R j3Q

l_
5Q -j6Q

2. 6430
3. 4630
4. 20

Options :

92090646933. 1
92090646934. 2
92090646935. 3
92090646936. 4

Question Number : 34 Question Id : 92090611886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'R & forg A & forg, faan man ufvgy erardl €

R j30
|_
5Q —-j6Q
(1) 50 (2) 6430
(3) 4630 4 20

Options :
92090646933. 1



92090646934. 2
92090646935. 3
92090646936. 4

Question Number : 35 Question Id : 92090611887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If Port-2 of a 2—port network is terminated with 73 Q2 and ABCD parameter of
2-port network are A=C=3, B=5 and D=-2; input impedance of that
network is

1. T30

2. B0a

3. 1030

4. 1480
Options :

92090646937. 1
92090646938. 2
92090646939. 3
92090646940. 4

Question Number : 35 Question Id : 92090611887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe frdt 2-vgr (rd) ufioy &1 UgR (@1d)-2, 73 @ & UfeRiy & 91y eXfiAe g1a1 ¢ 30 2-
UgR (01¢) uRuy & ABCD U ®, A=C =3, B=5 3R p =2 o uftuy &} 3w ufdemn
&1 {31 g2

(1) 730 (2} 500
(3) 1030 (4 1480
Options :

92090646937. 1
92090646938. 2
92090646939. 3
92090646940. 4

Question Number : 36 Question Id : 92090611888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A voltage of 100 V dc is applied across two capacitors in series having
capacitances Cy =200 pF and C, =20 uF. A voltage drop across C, is given as

1. 8182V

2. 8182V

3. 1818V

4. 1818V
Options :

92090646941. 1
92090646942. 2
92090646943. 3
92090646944. 4

Question Number : 36 Question Id : 92090611888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

goft 1 A §S C; =200 pF AR C, =20 pF uifen & & dufet @ oe 100 vV B 3y dieew
RifYd fea 8. ¢, & v diecs aH fbam grme

(1) g182v (2) 8182V
(3) 1.818V (4 1818V
Options :

92090646941. 1
92090646942. 2
92090646943. 3
92090646944. 4

Question Number : 37 Question Id : 92090611889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For a circuit shown below, when switch is closed, the current /,(s) is (assume

i(0”)=0)

k
RS

2v - ﬁﬂ)lgﬁﬂ @ﬂl§ﬁﬂ

1

1. / =
25)=5155
3 B —
T 2% T (s +25)
5
3. Iy(s)=
Ly
s+25
4. |s(s5)=
2(s) s(s+5)
Options :

92090646945. 1
92090646946. 2
92090646947. 3
92090646948. 4

Question Number : 37 Question Id : 92090611889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



few e ufvgy ¥, oid e o1 &< favan oran € ot fagga uRT Iy(s) &1 8F F1 g
(HHT i(0™) =0))

-k
5 R
zv}-— i1(t) Jgasz ia(f) l§ 50
() his)= ] (2) ;{53=;
2T 5125 2 s(s+2.5)
5 5+25
(3) FE{S:I_S-ILE_E (4) 2{53—5{345}
Options :

92090646945. 1
92090646946. 2
92090646947. 3
92090646948. 4

Question Number : 38 Question Id : 92090611890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct sketch of uw(-n).

ul=r1)
1 .
o I
0 o
- i}
2. -
b 7 W e
Iu[—n}
3 s 11
ARER A
= 1)
4. i ¢ .
S N N ) (NS
Options :

92090646949. 1
92090646950. 2
92090646951. 3
92090646952. 4

Question Number : 38 Question Id : 92090611890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i-'[—f?]
(1) 1s .
: 11—
:ﬁ_nl
2) ol oo ue o
Al Ll
Tu{—n]
(3) 1 1
e,
w—n
N I
Options :

92090646949. 1
92090646950. 2
92090646951. 3
92090646952. 4

Question Number : 39 Question Id : 92090611891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A signum function x(t) is represented by

A X(f)
1:
—te >t
A X(f)
1
2 —f= >t
-1
 X(1)
3. 1
—te >t
x(t)
N
e >t
Options :

92090646953. 1
92090646954. 2
92090646955. 3
92090646956. 4

Question Number : 39 Question Id : 92090611891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U g wod &) fead ueffa fem o &

a2 X(f)
(1)
—f= >t
A X(f)
1 |—
_f = = f
2 »
2 X(t)
—t=< =
x(t)
—t= >

Options :

92090646953. 1
92090646954. 2
92090646955. 3
92090646956. 4

Question Number : 40 Question Id : 92090611892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The conduction band edge, E, in a semiconductor represents

1. electron potential energy

2.  electron Kinetic energy

3.  hole potential energy

4.  hole kinetic energy
Options :

92090646957. 1
92090646958. 2
92090646959. 3
92090646960. 4



Question Number : 40 Question Id : 92090611892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

US iards &1 916+ o8 'E, BR a1 UTdl 82

(1) gaeeH fufas Sl 2) gageH Tfde Hat
3) P fRfas Seit (4) B TS FHal
Options :

92090646957. 1
92090646958. 2
92090646959. 3
92090646960. 4

Question Number : 41 Question Id : 92090611893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Maximum electric field in a P-N junction in equilibrium is located

1. at the junction

2.  inthe P-type region

3. inthe N-type region

4.  at the metallic contacts
Options :

92090646961. 1
92090646962. 2
92090646963. 3
92090646964. 4

Question Number : 41 Question Id : 92090611893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



v p-n | (e @ wreTaen #, sfbeon Rgga & sl fRua gim 87

(1) HfY ) W) 2) p-eEUETH
(3) ncRUEAH (4) I-¥UF W
Options :

92090646961. 1
92090646962. 2
92090646963. 3
92090646964. 4

Question Number : 42 Question Id : 92090611894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In a silicon sample doped with N-type impurities, the Fermi level (Eg) is situated
0.35 eV away from the intrinsic Fermi level (E;). If the energy bandgap (Eg ) of

silicon at 300 K is considered to be 1.10 eV, what is the separation between the
Fermi level (Eg) and the valence band edge (E/)?

1. 0.20eV

2. 030eV

3. 145eV

4. 0.90eV
Options :

92090646965. 1
92090646966. 2
92090646967. 3
92090646968. 4

Question Number : 42 Question Id : 92090611894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U ffasA T & N-23Y sugs I omifisd fran orar € e wif s (g;) @
wHl TR (E)0.35 ev X R4d €1 1 Riferpla &1 Soif s ofaRTa (£,,), 300 K A W 1.10
eV & dl il ¥R £ IR Wedd 98 £, & &9 o gl & gnft

(1) 0.20 eV (2) 030eV
(3) 145 eV (4) 090eV



Options :

92090646965. 1
92090646966. 2
92090646967. 3
92090646968. 4

Question Number : 43 Question Id : 92090611895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which quadrant of the current-voltage characteristic does a solar cell operate?

1. First

2. Second

3. Third

4. Fourth
Options :

92090646969. 1
92090646970. 2
92090646971. 3
92090646972. 4

Question Number : 43 Question Id : 92090611895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS Orer O, faggd-ur fava @reean siftraern & g aqufa & =ifea 32

(1) Ued 2) TW
3) dR 4) 9
Options :

92090646969. 1
92090646970. 2
92090646971. 3
92090646972. 4

Question Number : 44 Question Id : 92090611896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The characteristics of an ideal op-amp are (where BW = Bandwidth, SR = Slew
Rate)

1. BW=» CMRR=x,SR=x®

2. BW=«,CMRR=x,SR=0

3. BW=«, CMRR=0,SR=0

4. BW=x, CMRR=0,SR==
Options :

92090646973. 1
92090646974. 2
92090646975. 3
92090646976. 4

Question Number : 44 Question Id : 92090611896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U e op-amp & fifdem g -

(T8l BW = & B ST, SR = §d LAY

(1) BW = oo, CMRR = oo, 5R = 20 (2) BW=co, CMRR = oc,SR=0
(3) BW =, CMRR=0,5R =0 (4) BW=o, CMRR=0,5R = =
Options :

92090646973. 1
92090646974. 2
92090646975. 3
92090646976. 4

Question Number : 45 Question Id : 92090611897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average value of V,(t) of the given circuit will be
D

K o+

Vi, Sin et Gv) § R Vi (+)

1 0
2 mkhl
i
3, Vm
V2
4 % Vm
Options :

92090646977. 1
92090646978. 2
92090646979. 3
92090646980. 4

Question Number : 45 Question Id : 92090611897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ferw e forgga ufvay & v, (1) @1 ofiea HHE & g
D

Ki o+

V.., Sin ot @) § R V, (+)

M o @ -z
n
@ - V—E @ Vi

Options :

92090646977. 1
92090646978. 2
92090646979. 3
92090646980. 4



Question Number : 46 Question Id : 92090611898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct full-wave rectifier circuit is

Input
1. *
Qutput
!
Input
2.
Input
3.
Output
!
Input
4.
Options :

92090646981. 1
92090646982. 2
92090646983. 3
92090646984. 4

Question Number : 46 Question Id : 92090611898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

a1 |1 3fea gof o feperd afvay & axfar 87

Input
(1) Output

Input

(2) Cutput

Input

(3) Output

Input

(4) Cutput

SoRR

Options :

92090646981.
92090646982.
92090646983.
92090646984.

AW N —

Question Number : 47 Question Id : 92090611899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For the monostable multivibrator timer 555 circuit with R4 =7.5kQ and
C =0.1uF, find out the period of the output waveform.

1. 0.325ms

2. 0625ms

3 0.125ms

4. 0825 ms
Options :

92090646985. 1
92090646986. 2
92090646987. 3
92090646988. 4

Question Number : 47 Question Id : 92090611899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ry =75kQ @ C=01uF% AFRTd AeclaReey W 555 URuy & fm fefa TORST &I
SfTadeTd HId HIfer:

(1) 0.325 ms (2) 0.625 ms
(3) 0.125 ms (4) 0.825ms
Options :

92090646985. 1
92090646986. 2
92090646987. 3
92090646988. 4

Question Number : 48 Question Id : 92090611900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The frequency of oscillations at the output of an astable multivibrator using
Schmitt trigger directly depends on

1. delay
2.  product of resistor and capacitor (RC)
3. resistor, R, only

4.  capacitor, C, only

Options :

92090646989. 1
92090646990. 2
92090646991. 3
92090646992. 4

Question Number : 48 Question Id : 92090611900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Us Tadferd agaiua forad fRre forr &1 g gan €, 39& fHfd W Siem &t snafv A fag
W R &t 87

(1) fdew @ ufaRe 3R Hela & UFEd R (RO
3) $dd UfeRIYR TR (4) HaaGYiE c e
Options :

92090646989. 1
92090646990. 2
92090646991. 3
92090646992. 4

Question Number : 49 Question Id : 92090611901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An m : n decoder is used to enable 16 devices. The value of mis

1. 16
2. 8
3. 2



Options :

92090646993. 1
92090646994. 2
92090646995. 3
92090646996. 4

Question Number : 49 Question Id : 92090611901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TF m: o [a@1es &1 Sudr i@t A a1 81 m 1 9F T8 T

(1) 16 2) 8
B3 2 (4) 4
Options :

92090646993. 1
92090646994. 2
92090646995. 3
92090646996. 4

Question Number : 50 Question Id : 92090611902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sample-and-hold circuit consists of

1. unity gain amplifiers and capacitors

2.  resistors only

3.  inductors only

4. XOR logic gates
Options :

92090646997. 1
92090646998. 2
92090646999. 3
92090647000. 4

Question Number : 50 Question Id : 92090611902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ue Uldegl-aiR-gt M ufay @me-ts-gics ufuy) feg s a1 g g2

(1) USHd dlel Yadd &1 (2) Hdd UlcRTe &
(3) &Hdd IS BT (4) XOR T gRI (1e) &I
Options :

92090646997. 1
92090646998. 2
92090646999. 3
92090647000. 4

Question Number : 51 Question Id : 92090611903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A D flip-flop can be operated in toggle mode by connecting

1. Dand Q

2 D and clock

3. QandD

4. Qand @
Options :

92090647001. 1
92090647002. 2
92090647003. 3
92090647004. 4

Question Number : 51 Question Id : 92090611903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W%-memmﬂmﬁmm%ﬁmwasmﬁﬁw
T 87

M D3MQ&H 2) D3R T3 (clock) B
33 Q¥RQA 4 QAR Q B
Options :

92090647001. 1
92090647002. 2
92090647003. 3



92090647004. 4

Question Number : 52 Question Id : 92090611904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The overall transmittance for the signal flow graph shown in figure is

1/a
X1 ¥ Xs X3¢ f—i”'

1/a

1. &

2 a’

3. 2

4. 2a°

Options :

92090647005. 1
92090647006. 2
92090647007. 3
92090647008. 4

Question Number : 52 Question Id : 92090611904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

for & gifu 1Y, Hod vartg e & fore et Tvon fare & avra 7
1/a

s
x; &2 a2 x
c.t—)—‘( X5 4}%4
4

m a&° @ a
k) 2a° @) 2a°

Options :



92090647005. 1
92090647006. 2
92090647007. 3
92090647008. 4

Question Number : 53 Question Id : 92090611905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The overall transfer function for the block diagram shown in figure is

R C
2

1) 1+ G1

2

\
2 L r‘i - LE
2 Gj
g =
2
4. 1
Options :

92090647009. 1
92090647010. 2
92090647011. 3
92090647012. 4

Question Number : 53 Question Id : 92090611905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fau o o & forw o slaftd B FTAA AN 2

(3)

Options :

92090647009. 1
92090647010. 2
92090647011. 3
92090647012. 4

Question Number : 54 Question Id : 92090611906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The transfer function of two compensators is given as

s+30 ~30(1+5)

Tl ST

The correct statement is

1. G, is a lead compensator and C is a lag compensator
2. C,is alag compensator and C, is a lead compensator
3. G4 and G, both are lead compensator

4. C, and C, both are lag compensator

Options :

92090647013. 1
92090647014. 2
92090647015. 3
92090647016. 4

Question Number : 54 Question Id : 92090611906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 ufaeIi &1 iaftd wem 82

5430 oo _30(1+s)
17 30(s+ 1) 2" (30 +s)

al fufafaa &4 @19 a1 ey= 3fa €2
(1) €, U 3 Uiaa1iea § o ¢, U Uy ufaaiied g
@ Cy iy el § SR ¢, U s wfoef )
3) €, AR C, oMl 3yl g
@)  Cy IR C, T uy ufaeTiE B

Options :

92090647013. 1
92090647014. 2
92090647015. 3
92090647016. 4

Question Number : 55 Question Id : 92090611907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1

s3+As2+Bs+5
stable for constraints

H(s)= , is the transfer function of a system. The system is

1. A<Oand AB<5
2 A=0and AB<5
3. A>0and AB>5
4. A<Oand AB=5

Options :

92090647017. 1
92090647018. 2
92090647019. 3
92090647020. 4

Question Number : 55 Question Id : 92090611907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afy H(s) - ! forelt Py 1 ofafta wer § @ P #9193 a5y ¥ R

s+ As2+Bs+5

et g1 e
(1) A<0 3R AB<5 2 A=03R AB<5
3) A>03R AB>5 @) A<0 3R AB>5
Options :

92090647017. 1
92090647018. 2
92090647019. 3
92090647020. 4

Question Number : 56 Question Id : 92090611908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A polar diagram, which represents a lag network, is

.-'\-.||'”__II
: I/\ﬁl
w=0 w=o e
A;m
w=0 Ww=oo
] EE‘
A,l'm
3 /—\
w=o0 w=0 Re
f\rm
w:-u"c w= R.
4 \ /

Options :
92090647021. 1



92090647022. 2
92090647023. 3
92090647024. 4

Question Number : 56 Question Id : 92090611908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s ydta o, St U Uy ufkuel &) qefar € -
S Ifm
(1) /_\1
w=0 W= Re
Afm
=0 =00
@ . TR
-l\'\ !
\‘h‘.__ _f’/
' jm
3) ,/_\
W= w=0 e
' fm
=0 =0
{4} W|II wlll RE

Options :

92090647021. 1
92090647022. 2
92090647023. 3
92090647024. 4

Question Number : 57 Question Id : 92090611909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The open-loop DC gain of a unity negative feedback system with closed-loop

transfer function i is

252 +58+8

L2 ] —
Wth ojw  h|ow

I
L3 | co

Options :

92090647025. 1
92090647026. 2
92090647027. 3
92090647028. 4

Question Number : 57 Question Id : 92090611909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T U, HUTHF, TR0 B/ 3 Gelt o pe afs, 9 ur sfald e —S >

. 2s% +55+8
,(BIAFE -
3 3
(1) 5 (2) 3
5 8
3 - MY
(3) 3 (4) 3
Options :

92090647025. 1
92090647026. 2
92090647027. 3
92090647028. 4

Question Number : 58 Question Id : 92090611910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The noise transfer function Sis) of the given system is
N(S)g(s)-0
N(s) noise
Ri(s) Jr S Cls)
—-L 6 0L e
H1 g

1 5
. 1+ GzHr] + G"lGEHE
2 &
3. G,
'1 - GJ]H:Z — GJ]GzHZ
¥ GG,
" 1-GpHy - G4GoHy
Options :

92090647029. 1
92090647030. 2
92090647031. 3
92090647032. 4

Question Number : 58 Question Id : 92090611910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fau v Ay 1, W Siafvd B Cls) HTAF |
N(s)Ir(s)-0
(s)
R(s) . ,LN{S} noise Cls)

% 1 Py
e vu®, *| Gy s Gs *

1 | HI -‘
Hy

(1) Z @ G
1+ G_';_rH—*| + GrIGsz 1+ Gqu + G'IGZHE
Gy GGz
3 4
3 1- G1H2 - G1GEH2 @ 1- GZH1 - G1GEH2

Options :

92090647029. 1
92090647030. 2
92090647031. 3
92090647032. 4

Question Number : 59 Question Id : 92090611911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The gate used in a DPSK modulator is

1. NOR

2. NAND

3. XNOR

4. OR
Options :

92090647033. 1
92090647034. 2
92090647035. 3
92090647036. 4

Question Number : 59 Question Id : 92090611911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DPSK Hige® H &1 91 gaR (1) JudRT faa it 82

(1) NOR (2) NAND
(3) XNOR [4) OR
Options :

92090647033. 1
92090647034. 2
92090647035. 3
92090647036. 4

Question Number : 60 Question Id : 92090611912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sinusoidal signal is sampled at 10 kHz and quantized by using 10 bits uniform
quantizer. The values of bit rate and (SNR)q in this case are

1. 100 kbps, 61.6 dB
2. 100 kbps, 10 dB

3. 50 kbps, 61.6 dB
4

50 kbps, 10 dB

Options :

92090647037. 1
92090647038. 2
92090647039. 3
92090647040. 4

Question Number : 60 Question Id : 92090611912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U SOTdeh T Gdbd $1, 10 kHz T, 10 AW (428 & UF 0 WP &1 J0 1 &
ufdefRia oo oiran 81 39 s/@ea A o9 (@ed) X 3R (SNR)q &1 HIF &1 gH?

(1) 100 kbps, 61.6 dB (2) 100 kbps, 10 dB
(3) 50 kbps, 61.6 dB (4) 50 kbps, 10dB
Options :

92090647037. 1
92090647038. 2
92090647039. 3



92090647040. 4

Question Number : 61 Question Id : 92090611913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To avoid slope overload distortion in delta modulation for m(t) = 10cos(2,000xt)
to maintain minimum (SNR)qg (Signal to Quantization Noise Ratio), the minimum
required sampling rate is

i 10t samples/sec
2 108 samples/sec
3. 108 samples/sec
4. 10'° samples/sec

Options :

92090647041. 1
92090647042. 2
92090647043. 3
92090647044. 4

Question Number : 61 Question Id : 92090611913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST }Igad B, Uaural sffaqr fasfa, |, 999 & o m(t) = 10cos(2,000xt) & ferg, =gaH
(SNR)q (¥ ¥ RS0 3@ &) P €91¢ T F g, gaw oravass v & a1
I

(1 10 ufaedi/Advs 2) 10° ufaedi/d%us
(3) 10 ufdediA®vs 4) 10" ufdeyid%vs
Options :

92090647041. 1
92090647042. 2
92090647043. 3
92090647044. 4

Question Number : 62 Question Id : 92090611914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The biggest advantage of generating an FM signal from the PM signal is
1. design simplicity
2. very high centre frequency stability
3. response linearity
4

limiting the frequency deviation

Options :

92090647045. 1
92090647046. 2
92090647047. 3
92090647048. 4

Question Number : 62 Question Id : 92090611914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U PM Hbd ¥ FM Hard &1 I $3- 1 a0 FST A E -

(1) ooz wad 2) wgd SN I gl fRRa
(3)  SFfehar usETdar (e @) g faaes &1 diftra &
Options :

92090647045. 1
92090647046. 2
92090647047. 3
92090647048. 4

Question Number : 63 Question Id : 92090611915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A superheterodyne receiver to operate in the frequency range 550 kHz to
1500 kHz and the IF is 455 kHz. What is the possible tuning range of local
oscillator frequency?

1.  95-1005 kHz
2. 1005-1955 kHz
3. 1555-3455kHz

4, 1460-2410 kHz
Options :



92090647049. 1
92090647050. 2
92090647051. 3
92090647052. 4

Question Number : 63 Question Id : 92090611915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF gewerd fEpm & 8 @1 omgfd uRWss0 kHz @
1500 kHz 3R IF, 455 kHz R S $Hdl g1 WY Sas smafy &t dya Jreaor aRER &1

&7

(1) 95-1005kHz (2) 1005-1955kHz
(3) 15553455 kHz (4) 1460-2410 kHz
Options :

92090647049. 1
92090647050. 2
92090647051. 3
92090647052. 4

Question Number : 64 Question Id : 92090611916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X is a Gaussian random variable with mean zero and variance 10, the
differential entropy of X'is

1. 1.52 bits

2. 3.8 bits

3. 22bits

4. 5.6 bits
Options :

92090647053. 1
92090647054. 2
92090647055. 3
92090647056. 4

Question Number : 64 Question Id : 92090611916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



uﬁgwmmﬁiﬁm%ﬁﬂ'ﬂaﬂmwaﬁ?mm%axaﬁmm
R

(1) 1.52 39 (feem) (2) 3.8 3 (ferem)
(3) 2.2 3w (fEew (4) 5.6 39 fae
Options :

92090647053. 1
92090647054. 2
92090647055. 3
92090647056. 4

Question Number : 65 Question Id : 92090611917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If V; and V; are the 3-dimensional subspaces of the 4-dimensional vector space,
then the smallest possible dimension of W, n\5 is

1. One

2. Two

3. Three

4. Four
Options :

92090647057. 1
92090647058. 2
92090647059. 3
92090647060. 4

Question Number : 65 Question Id : 92090611917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe v, 3R v, 4-farita afeeranfy & 3 fafla Suaaf® 8 &t v, v, @t @ 31t dva fam
&1 gt

1) TP @ d
3) dHF (4) TR
Options :

92090647057. 1



92090647058. 2
92090647059. 3
92090647060. 4

Question Number : 66 Question Id : 92090611918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The power spectral density of a real process X(t) for positive frequencies is
shown in figure. Then what is the value of Ry (O) where Ry (T) is the auto-
correlation of X(t)

10+ 4 106 (f —9000)
2__ _____ R E——
> f
8k 9k 10k
1. 8000
2. 4000
3. 4010
4. 8020
Options :

92090647061. 1
92090647062. 2
92090647063. 3
92090647064. 4

Question Number : 66 Question Id : 92090611918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UF aRdfas UEH X(t) @ 9T seRl ¥ i ufdy Weed mrEd) uva B @
fevaman 1 €1 & Ry (O) &1 HIF &1 G2 T Ry (T), X(t) T WUgHEY &

10} » 105 (f —9000)
2__ _____
> f
8k 9k 10k
(1) 8000 (2) 4000
(3) 4010 (4) 8020
Options :

92090647061. 1
92090647062. 2
92090647063. 3
92090647064. 4

Question Number : 67 Question Id : 92090611919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first stage of a two-stage amplifier has a voltage gain of 10, input resistance
600 2, equivalent noise resistance 1600 2 and output resistance 27 k(1. For
a second stage, these values are 25, 81kQ and 1 MQ | respectively. If it is driven
by the generator with output impedance 50 Q, find the noise figure of the
amplifier.

1. 384

2. 394

3. 1.002

4. 204
Options :

92090647065. 1
92090647066. 2
92090647067. 3
92090647068. 4

Question Number : 67 Question Id : 92090611919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Udh ) a1 Uaties &1 ggall iawyl 1 diee sl 10 g, Fraw ufadiy 600 o, Tefta @ ufady
1600 © 3R fFrf ufeRiy 27 ko §1 T sEwyr & fore 9a1 9F FH: 81k 3R 1M
1 afe 7% U 93 gR1 g o ¢ forgs! e ufder 50 o & o udesr @ 99 39
Hifery |

(1) 384 (2) 394
(3) 1.002 4) 204
Options :

92090647065. 1
92090647066. 2
92090647067. 3
92090647068. 4

Question Number : 68 Question Id : 92090611920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An antenna has power gain of 10, directive gain of 20 and loss resistance of
30 Q; the radiation resistance is

1. 10Q
2. 20Q
3. 3W0Q
4. 400
Options :

92090647069. 1
92090647070. 2
92090647071. 3
92090647072. 4

Question Number : 68 Question Id : 92090611920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufg e et @) &1 fFa @fe 10 8 SR @fd 20 § SR & wiekily 30 @ § o Iue
fafas2or ufeRty @ ghm?

(1) 100 (2) 200
3) 300 @) 400



Options :

92090647069. 1
92090647070. 2
92090647071. 3
92090647072. 4

Question Number : 69 Question Id : 92090611921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An evanescent mode occurs when
1. awave is attenuated rather than propagated
2 m=n=0 so that all field components vanish
3. the propagation constant is purely imaginary
4

the wave frequency is same as the cut-off frequency

Options :

92090647073. 1
92090647074. 2
92090647075. 3
92090647076. 4

Question Number : 69 Question Id : 92090611921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ie arrorgret fen @ € o

() o daiva e g afes afivfiga it 8
20 m=n=0 3ufd @it &5 2 GAE § E I g1
3) Hu feris qufa: el g

4) T angfa AN sias amgfy wHE it ¥
Options :

92090647073. 1

92090647074 2

92090647075. 3

92090647076. 4

Question Number : 70 Question Id : 92090611922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In cylindrical coordinates, equation

22 1 ~2
7 el )
F =L+ L +132=0
ép° PO &z

isa

1. Laplace’s equation

2. Helmholtz's equation

3. Poisson's equation

4. Lorentz's equation
Options :

92090647077. 1
92090647078. 2
92090647079. 3
92090647080. 4

Question Number : 70 Question Id : 92090611922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qot e e 7

Fzg’ﬂf—“’ ‘"2‘2"+132=n

p PO Bz
U gl
(1)  arer gt (2) TeHEIeCS HISHR
(3)  UiaH gHtEI (4) TCH gHIEHI
Options :

92090647077. 1
92090647078. 2
92090647079. 3
92090647080. 4

Question Number : 71 Question Id : 92090611923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a certain medium E = Ecnsl[Ex’IDBt -5y)a, VIm What type of medium is it?

1. Perfect conductor

2. Perfect dielectric

3. Free space

4. Lossless dielectric
Options :

92090647081. 1
92090647082. 2
92090647083. 3
92090647084. 4

Question Number : 71 Question Id : 92090611923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fpeft WA # E = 6cos(2x108t - 5y)a, Vim Ig HIEHH B d UHR $1 87

1) gof gras @ gof urdgygd
(3) T MBI (4) BTEEH URAEYd
Options :

92090647081. 1
92090647082. 2
92090647083. 3
92090647084. 4

Question Number : 72 Question Id : 92090611924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the maximum number of subnetworks for the default mask 255.255.0.0
and subnet mask 255.255.224.07

1. 8
2. 16
3. &
4. 64

Options :



92090647085. 1
92090647086. 2
92090647087. 3
92090647088. 4

Question Number : 72 Question Id : 92090611924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U faay ARE 255.255.0.0 3% UF JUGTd HRE 255.255.224.0 & fore Iuufvay 1 sifeean
BT 87

(1 8 (2) 16
(3) 32 (4) 64
Options :

92090647085. 1
92090647086. 2
92090647087. 3
92090647088. 4

Question Number : 73 Question Id : 92090611925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not transition strategy from IPv4 to IPv6?

1.  Dual stack

2. Tunneling

3. Header translation

4. Variable length prefix
Options :

92090647089. 1
92090647090. 2
92090647091. 3
92090647092. 4

Question Number : 73 Question Id : 92090611925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frofafaa § 9 &9 @, 1pva & 1Pve BT HeprU Hifd 781 82

(1)  &deR (&d) 2 JuH
(3)  ee (@iufh g (4) =R ddrs Mfteay (gduay)
Options :

92090647089. 1
92090647090. 2
92090647091. 3
92090647092. 4

Question Number : 74 Question Id : 92090611926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The full form of MQTT is

1.  Management Query Transfer Tool

2.  Message Query Telemetry Transport

3. Message Queuing Telemetry Transport

4. Management Queuing Telemetry Tool
Options :

92090647093. 1
92090647094. 2
92090647095. 3
92090647096. 4

Question Number : 74 Question Id : 92090611926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MQTT &1 [T &1 § -

(1 B ST Tl ¢ 2) IO SR eaded e
(3)  HeroEe Ry e orEd (4) BT R CeH TE
Options :

92090647093. 1
92090647094. 2
92090647095. 3
92090647096. 4



Question Number : 75 Question Id : 92090611927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : The sampling theorem is applicable to continuous time band
limited signal.
Reason (R) : The sampling theorem is applicable to stochastic signal.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3. (A)istrue but (R) is false
4. (A)is false but (R) is true

Options :

92090647097. 1
92090647098. 2
92090647099. 3
92090647100. 4

Question Number : 75 Question Id : 92090611927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R @ FYF AU MU §: 0P HUGYT (Assertion A) F ¥U H fifEd § O gE ITF SR
(Reason R}a;'Fq ﬂ;

APy A - ufcas wia $ad ddad wia 8 difa SHa w® ar g €
HRUIR: yfereras WG uyTed Sddl W arL el g
JWIed HY- & 3ireits H, 19 fau mu faeedt ¥ 9 ga@ 3uga I &1 994 Sifore

(1) AMRRIATEIE SRR A TS TR

2) ASMRREH GEl € Af r A B UE cren T 8
3) AUSE Af R UG TSN ©

(4) A HEITE g, AP R T @



Options :

92090647097. 1
92090647098. 2
92090647099. 3
92090647100. 4

Question Number : 76 Question Id : 92090611928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : A system is called causal if its output y(f) at an arbitrary time
t =ty depends on only the input x(t) for t <tg.

Reason (R) : Inacausal system, it is not possible to obtain an output before
an input is applied to the system.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3.  (A)is true but (R) is false

4. (A)is false but (R) is true

Options :

92090647101. 1
92090647102. 2
92090647103. 3
92090647104. 4

Question Number : 76 Question Id : 92090611928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 ByA U M0 § TP HUFYA (Assertion A) F FU  H fif@d g O gE I9F RO

{Reason R) & ¥4 T

syt a . @ Pl @) TR wean € a9k S Femo oy el
TEfEHYY t = t, W Had IG& FHa9 x(f) WANR S E (1<, & {Q

HRUIR: U% $RUTES Ao § g dva a8 ¢ & Frfo & ARg 29 § wa
UTC e o T |

IR BYA & HTare 3§, - 3y e fasedl & @ 999 Iy IR &1 997 Sifag

(1) AR E E R R A B W TSN B

2  ASRREH 6l g dfF R A 3 ¢ rEn T8 §
3) AWeE dfhTREE TR

(4  A¥g el ¢, Afb- R Wel 8

Options :

92090647101. 1
92090647102. 2
92090647103. 3
92090647104. 4

Question Number : 77 Question Id : 92090611929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) :  Emitter-follower configuration of BJT is used for impedance-
matching applications.

Reason (R) : Inacommon-collector configuration of BJT, the output voltage
at the emitter is in phase with input signal.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3. (A)istrue but (R) is false
4. (A)is false but (R) is true

Options :
92090647105. 1



92090647106. 2
92090647107. 3
92090647108. 4

Question Number : 77 Question Id : 92090611929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I @ HY AU MU & U HHBUA (Assertion &) F TU H fifEd ® @ gER1 IUF FRUI
(Reason R}?F‘-’I ﬁ;

sfirpy a - m%gamﬂ%&rﬂﬁrﬁwmaﬂm,mmgﬁmmﬁm
STl & |

HNUR g;gﬁammmmﬂmmmmmmmﬁ
|

ST HYF & 3Teilsd #, T fu 7 feadl # 4 9ad Iuga Ik &1 994 Fifew

(1) ASMRRIH TEl § 3R R A P! ULl SIRET B
2) ARREH HEl € afba R A Pl el BN A8l §
3) AUDNE AFIRTE TR
4) AUE TR g AfF R UE B
Options :
92090647105. 1
92090647106. 2

92090647107. 3
92090647108. 4

Question Number : 78 Question Id : 92090611930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : In an operational amplifier circuit, negative feedback is used
to avoid operational amplifier to go into saturation.

Reason (R) : The negative feedback degenerates the output voltage
amplitude and in turn reduces the voltage gain.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3. (A)is true but (R) is false
4,  (A)is false but (R) is true

Options :

92090647109. 1
92090647110. 2
92090647111. 3
92090647112. 4

Question Number : 78 Question Id : 92090611930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 3 Fy AU MU § UF HfHYF (Assertion A) F U i@ § O gE IUF BRI
(Reason R}?F‘-‘I ﬁ;

sfirpet A - U dftrmare vasls afvmer B, smrars gk &1 3, e uads
& Ugfta § 9 91 & fore fvan Sran €1

FRUIR - FBUeE YR, Ffn dicedr smam &1 JUgr #dT § 3R 39 a¥g dieedl
el &1 &HH B Sl ¢

JURIG HYH & 3ol H, I fU MU faded! # 8§ 9ad Jugdd 3T &1 994 I

(1) ASMRRIA TSI § R R A P TS REm §

2) ASIRRGH Gl g dfb r A P el urEn gl §
3) AYEE afeTRud T 8

4 ATSTEE AFTREE S

Options :




92090647109. 1
92090647110. 2
92090647111. 3
92090647112. 4

Question Number : 79 Question Id : 92090611931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : The ENABLE input of an m:2™ decoder can be used to
increase its size.

Reason (R) : The ENABLE inputinan m:2™ decoder can be used as the

(m+1)" input to result in a (m+1): 2™1 decoder.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3.  (A)istrue but (R) is false
4. (A)is false but (R) is true

Options :

92090647113. 1
92090647114. 2
92090647115. 3
92090647116. 4

Question Number : 79 Question Id : 92090611931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 @ FY QU MU §: U HUGUT (Assertion A) F ¥4 H fifEd § O g IUF SR
(Reason R}%F‘-’I ﬁ;

HUFYTA : TH m:2™ [APIS® & ENABLE A9 &1 IUANT IS ER dgld & o
fepan ot G 8|

PHRUR - U6 m:2™ fdPpIs® & ENABLE Y &1 TN (m+1) d AU S =u A &
& a(m+1): 2™ [Apies und 61 o 9oal g

JWRIH HYF & 3fIeld H, i fdu 7o fadad! & 8 a8 Iuge I¥ &1 994 Sifow

(1) ANRRIAGEIE IR R A P U OREm B

@ AR REH U8 8, AP R A B U SRS 781 8
3) AT AFTREA T B

4) ARG AfFTREB

Options :

92090647113. 1
92090647114. 2
92090647115. 3
92090647116. 4

Question Number : 80 Question Id : 92090611932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : In an impedance, Smith chart point r=0, x=0 represents
open-circuit point.

Reason (R) : In an impedance, Smith chart, [r=-1and li=0 represents
r=0and x=0.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3. (A)istrue but (R) is false
4. (A)is false but (R) is true



Options :

92090647117. 1
92090647118. 2
92090647119. 3
92090647120. 4

Question Number : 80 Question Id : 92090611932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

43 & By 37 M0 8 0P DY (Assertion ) F T H fof@d ¢ df g0 I9F IRW
(Reason R) & ¥4 T

HfHYT A - U Ufaaren Ry ard A fa<g r =0, x = 0U® o ufvuy fa=g gufar g
HRUIR ; U ufaaren R A d, [r =19 [i=0, r =0 MR x =0 AT
JRIH HYA & s ¥, = fqu T fAsedl 8 4 968 Iugd I &1 994 Sifeg

(1) A3RREAE TG E MR A B T RSN &

) AR RIE T T AfFAR, A P T e TS §
(3) ATEE APTIRAS T

4 AWITENE AfPAR TR

Options :

92090647117. 1
92090647118. 2
92090647119. 3
92090647120. 4

Question Number : 81 Question Id : 92090611933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

3x-2

for D<x=<1

Statement-l : f(x)= sin(x —1)
——— for

x5
(x-1)

Function is continuous at x =1

1

xex
Statement-Il :  f(x)= :- x#0
0

1
X
- x=0
Function is continuous at origin.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-Il are true
2. Both Statement-| and Statement-Il are false
3. Statement-| is true but Statement-I| is false
4.

Statement-l is false but Statement-Il is true

Options :

92090647121. 1
92090647122. 2
92090647123. 3
92090647124. 4

Question Number : 81 Question Id : 92090611933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HYA |
KL e & foro
T
sin{x-1) 4 ¥ R
(x—1)
x =1 W BA- od § |
3
xXe
— . x=0
TN f(x)={ "1
0 ;: x=0
e fdg X e Had g

ST HYA & Melie d e v o fAeel | 9 w8l I &1 90 S

M BRI EAE

@ YT R A B

3) Y1 HI g, Af FU I S B
@) Y| Y B, Afd w1 Ha B

Options :

92090647121. 1
92090647122. 2
92090647123. 3
92090647124. 4

Question Number : 82 Question Id : 92090611934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement-| :  Fourier series of any periodic signal x(f) can only be obtained
if x(t) is absolutely integrable over any period.

Statement-Il : Fourier series of any periodic signal x(t) can only be obtained
if x(t) has a finite number of discontinuities within finite time
interval of t.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-|| are true

2. Both Statement-| and Statement-Il are false

3.  Statement-l is true but Statement=Il is false

4.  Statement-l is false but Statement-Il is true
Options :

92090647125. 1
92090647126. 2
92090647127. 3
92090647128. 4

Question Number : 82 Question Id : 92090611934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090647125. 1
92090647126. 2
92090647127. 3
92090647128. 4

Question Number : 83 Question Id : 92090611935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement-l : Velocity saturation in silicon occurs at high electric fields.
Statement-ll : Mobilities due to two scattering mechanisms (4 and - ) add
; 1 1 1
up inverselyas — = —+—.
nooBg Hp

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-II are true
2. Both Statement-| and Statement-I| are false
3. Statement-| is true but Statement-lIl is false
4.

Statement-| is false but Statement-Il is true

Options :

92090647129. 1
92090647130. 2
92090647131. 3
92090647132. 4

Question Number : 83 Question Id : 92090611935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(4) DY TG, AFTBYT 11 T §

Options :

92090647129. 1
92090647130. 2
92090647131.3
92090647132. 4

Question Number : 84 Question Id : 92090611936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement-l : The r, model has advantage that the parameters are defined
by the actual operating conditions.

Statement-Il : The parameters of the hybrid equivalent circuit are defined in
general terms for any operating conditions.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-Il are true

2. Both Statement-| and Statement-Il are false

3. Statement-I| is true but Statement-ll is false

4.  Statement-l is false but Statement-Il is true
Options :

92090647133. 1



92090647134. 2
92090647135. 3
92090647136. 4

Question Number : 84 Question Id : 92090611936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090647133. 1
92090647134. 2
92090647135. 3
92090647136. 4

Question Number : 85 Question Id : 92090611937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement-l : In the fixed-bias configuration of an n-p-n, BJT operating in
the active regime, the magnitude of collector current does not
depend on R .(See the figure)

Vee

Statement-ll : In the fixed-bus configuration shown in figure, base current is
controlled by Rg.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-I and Statement-Il are true
2. Both Statement—| and Statement-Il are false
3. Statement-l is true but Statement-Il is false

4. Statement-l is false but Statement-ll is true
Options :
92090647137. 1
92090647138. 2
92090647139. 3
92090647140. 4

Question Number : 85 Question Id : 92090611937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090647137. 1
92090647138. 2
92090647139. 3
92090647140. 4

Question Number : 86 Question Id : 92090611938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement-l : In a linear block code, NAND operation of any two valid
codewords creates another valid codeword.

Statement-ll : To guarantee correction up to t errors in all cases, the
minimum Hamming distance in a block code must be
dmin =2t+1.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-|l are true

2. Both Statement-| and Statement-Il are false

3 Statement-| is true but Statement-Il is false

4.  Statement-l is false but Statement-Il is true
Options :

92090647141. 1
92090647142. 2
92090647143. 3
92090647144. 4

Question Number : 86 Question Id : 92090611938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090647141. 1
92090647142. 2



92090647143. 3
92090647144. 4

Question Number : 87 Question Id : 92090611939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement-1 : The magnetic field is solenocidal; the divergence of the
magnetic flux density is zero.

Statement-Il : The magnetic flux is conserved; the total net flux through any
closed surface is not zero.

In the light of the above statements, choose the correct answer from the options
given below.

1 Both Statement-| and Statement-Il are true

2. Both Statement-| and Statement-Il are false

3.  Statement-l is true but Statement-Il is false

4. Statement-| is false but Statement-Il is true
Options :

92090647145. 1
92090647146. 2
92090647147. 3
92090647148. 4

Question Number : 87 Question Id : 92090611939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090647145. 1
92090647146. 2
92090647147. 3
92090647148. 4

Question Number : 88 Question Id : 92090611940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement-I : The tangential component of the electric field intensity is
continuous across an interface between two general
materials, regardless of charge densities on the surface.

Statement-ll : The tangential component of the electric flux density is
discontinuous across the interface. The discontinuity is equal
to the ratio between the permittivities of the materials.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-Il are true

2 Both Statement-| and Statement-Il are false

3.  Statement-| is true but Statement-Il is false

4. Statement-| is false but Statement-Il is true
Options :

92090647149. 1
92090647150. 2
92090647151. 3
92090647152. 4

Question Number : 88 Question Id : 92090611940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090647149. 1
92090647150. 2
92090647151. 3
92090647152. 4

Question Number : 89 Question Id : 92090611941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are correct for X, Y as random variable
A H(X)zH(X!Y)

B. H(X+Y)<H(X)+H(Y)

C. If X and Y areindependent H(X/Y)=H(Y /| X)

D. Mutual information /(X Y)=H(X/Y)-H(Y | X)

E. If X and Y areindependent /(X;Y)=0

Choose the correct answer from the options given below.
1. A, C,Eonly
2. A,B,Donly
3. B,C,Donly
4. A, B,Eonly

Options :
92090647153. 1



92090647154. 2
92090647155. 3
92090647156. 4

Question Number : 89 Question Id : 92090611941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFroffad # @ o g@ifes x Ry =9 & fae 3fua @2
A H(X)zH(X!Y)

B. H(X+Y)<H(X)+H(Y)

C. T xRy WHEH H(X/Y)=H(Y/X)

D. URMR® &1 I(X:Y)=H(X1Y)-H(Y!X)

E. afg X8R Y Wad

4 feu o famedi A @ udl IR &1 a4 i
(1) &ad A C3HRE

(2) %99 A, BIRD

(3) ®dd B, C3RD

(4) &ad A BIRE

Options :

92090647153. 1
92090647154. 2
92090647155. 3
92090647156. 4

Question Number : 90 Question Id : 92090611942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following three equations :
2x+3y+5z=9, Tx+3y—-2z=8, 2x+3y+iZ=n
A. For 4«5, system will have a unigue solution.
B. For A=5, n#9, system will have infinite solution.
C. Ifi=5 and p=9, system will have infinite solution.
D. For p=9, system will have no solution.

E. For L=5, system will have no solution.

Choose the correct answer from the options given below.

1. A, Conly

2. B,Donly

3. AB,Eonly

4. A, C,Eonly
Options :

92090647157. 1
92090647158. 2
92090647159. 3
92090647160. 4

Question Number : 90 Question Id : 92090611942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090647157. 1
92090647158. 2
92090647159. 3
92090647160. 4

Question Number : 91 Question Id : 92090611943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The aliasing effect can be minimized by
A. selecting sampling frequency wg > 2w,
B. selecting sampling frequency wg < 2w,
C. selecting sampling frequency w, <w_,
D. using anti-aliasing filter
Choose the correct answer from the options given below.
1. A and B only
2. BandC only
3. CandDonly
4.  AandD only

Options :

92090647161. 1
92090647162. 2
92090647163. 3
92090647164. 4

Question Number : 91 Question Id : 92090611943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(4) $dd ASRD
Options :

92090647161. 1



92090647162. 2
92090647163. 3
92090647164. 4

Question Number : 92 Question Id : 92090611944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which property is true for convolution integral?

Ao hy(t)=ho(t)=ho(t)* hy(t)

B.  [h(t)+hy(t)]* hg(t) = hy(t)* h(t)+ ha(t)* ha(t)
C.  [m(t)+ho(t)] * ha(t) = hy(t)hs(t) + ho(t)hs(t)

D.  hy(t)=hy(t) = hao(t)hy(t)

Choose the correct answer from the options given below.
1. AandB only
2. BandC only
3. CandDonly
4. AandC only

Options :

92090647165. 1
92090647166. 2
92090647167. 3
92090647168. 4

Question Number : 92 Question Id : 92090611944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B.  [hy(t)+ho(t)]= ha(t) = hy(t)* by (t) + ha(t)* ha(t)
C. [y(t)+ha(t)]* ha(t) = hy(t)ha(t) + ha(t)ha(t)

D.  hy(t)* hy(t)= ha(t)hy(t)

e fau o fawedl & 9 Og! S &1 g Sifon -
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Options :

92090647165. 1
92090647166. 2
92090647167 3
92090647168. 4

Question Number : 93 Question Id : 92090611945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which statements are true?

A. Electric field, £(x), in a semiconductor is directly proportional to the slope
of the intrinsic Fermi level.

B. Continuity equation is a mathematical representation of Fermi-Dirac
distribution function.

C. Depletion width in a P-N junction is equal to its Debye length.
[

D. Diffusion current density for holes is equal to :—qu d,z{x}]
X

1

Choose the correct answer from the options given below.

1.  Aonly

2. BandC only

3. Donly

4. AandD only
Options :

92090647169. 1
92090647170. 2
92090647171. 3
92090647172. 4

Question Number : 93 Question Id : 92090611945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090647169. 1
92090647170. 2
92090647171. 3
92090647172. 4

Question Number : 94 Question Id : 92090611946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which statement(s) is/are true?

A. The drain current in an enhancement-type MOSFET is inversely
proportional to the relative permittivity of the gate oxide.

B. The threshold voltage in an MOS capacitor does not depend on the gate
oxide thickness.

C. The drain current in an enhancement-type MOSFET is directly proportional
to the relative permittivity of the gate oxide.

D. The threshold voltage in an MOS capacitor depends on the gate oxide
thickness.

Choose the correct answer from the options given below.

1. AandB only

2. Aonly

3. Conly

4. CandD only
Options :

92090647173. 1
92090647174. 2
92090647175. 3
92090647176. 4

Question Number : 94 Question Id : 92090611946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090647173. 1
92090647174. 2
92090647175. 3
92090647176. 4

Question Number : 95 Question Id : 92090611947 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I with List=Il :

List—I List—II
(Signal) (Fourier Transform)
" adX(w)
(A) x(t=to) 0 dw
(B) e/0fx(t) (1) e /@%b X(w)
c =0 () X(o-og)
(D) (—jt)x(t) (IV)  JjoX(w)

Choose the correct answer from the options given below :

1. (A=) B)-(IV); (C)=(1): (D)=(1)

2. (Ay(I); (B)=(1): (C)y=(IV): (D)=(1I)

3. (A(II): (B)=(IlI); (C)=(IV); (D)~(1)

4. (A-(V); (B)-(1); (C)-(); (D)—(1)
Options :

92090647177. 1
92090647178. 2
92090647179. 3
92090647180. 4

Question Number : 95 Question Id : 92090611947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 1 & 1 g 1 &1 e Fifn

Tl (Heva) et - (IR FaiaR)

(A)  x(t-tg) 5 dX(w)
dwm

®) el“'x(t) e/ x(w)

dx(t) m X(o-amg)
) dt
D) (—jt)x(t) (v  joX(o)
9 f3u v fawmedl § @ 9dl IR &1 99 Do

(1) (A)=(I), (B)-(IV), (C)=(1), (D)-(lI)
(2) (A)=(I1), (B)-(1), (C)-(IV), (D)-(1lr)
(3) (A)-(I), (B)-(1), (C)-(IV), (D)-(1)
(4) (A)-(IV), (B)-(1), (C)-(11), (D)-(1lr)

Options :

92090647177. 1
92090647178. 2
92090647179. 3
92090647180. 4

Question Number : 96 Question Id : 92090611948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=l with List=Il :

List-I List—I
(Circuits) (Components)
(A) In an ideal op-amp (I) A parallel RLC network in the
integrator feedback path
(B) Inan ideal op-amp (I1) An E-MOSFET is used that work
differentiator as switch
(C) Inan op-amp sample (lll) A capacitor is in feedback path

and hold circuit

(D) In an op-amp peaking (IV) A resistor is in feedback path
amplifier

Choose the correct answer from the options given below :
T (A(V): (B)=(I); (C)=(1); (D)1)
2. (Al B)-(I); (C)-(IV); (D)~(1)
3. (A (B)-(IV); (C)=(I1); (D)=(1)
4. (AY(lt); B)-(1): (C-(I); (D)-(V)

Options :

92090647181. 1
92090647182. 2
92090647183. 3
92090647184. 4

Question Number : 96 Question Id : 92090611948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(D) U op-amp fERET®H (av) U Hicly gRor gy o
yad® A

A A M faFed! § 9 Tel 3T &1 994 S

(1 (A)-(1V), (B)-(), (C)-(), (D)-(1)
(2) (A)-(11), (B)-(1h), (C)-(1V), (D)-()
3) (A)-(11, (B)-(IV), (C)-(IN), (D)-(1)
(4) (A)-(II), (B)-(1), (C)-(M0), (D)-(IV)

Options :

92090647181. 1
92090647182. 2
92090647183. 3
92090647184. 4

Question Number : 97 Question Id : 92090611949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List—II -

List—I List—II
(Functional Blocks/Units) (Related Units/Parameters)

(A) Arithmetic logic unit (ALU) (1) Memory read/write

(B) Instruction register (1) Memory address
(C) Control unit (1) Opcode
(D) Program counter (IvV) Accumulator

Choose the correct answer from the options given below :

1. (AN, B)-(I); (C)-(I); (D))

2. (A)=(IIN); (B)=(IV); (C)~(1); (D)=(11)
3. (Ay-(); (B)-(IV); (C)-(lI); (D)~(1)
4. (A-(V); B-(I); (C)-(1); (D)~(11)
Options :

92090647185. 1
92090647186. 2
92090647187. 3
92090647188. 4

Question Number : 97 Question Id : 92090611949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt | & 1y g 0 & e $ifen

g1 (fopuiare sl S1S) gt 11 (et $a1s/Rnfiey)
(A) BTG oD IS (AaLy) ) AT TSR

(B) SEIEH IR ay T e
€ e gFe amy  SIHIS
(D) WRIH B3 (v) TPHHueR

4= e o el 1 O gt I =1 9 st

(1) (A)-(IV), (B)-(1n), (C)-(I), (D)-(1)
(2) (A)-(I), (B)-(1V), (Q)-(1), (D)-(II)
(3) (A)=(lIT), (B)-(IV), (C)=(H1), (D)-(1)
(4) (A)-(IV), (B)-(11), (C)-(1), (D)-(II)



Options :

92090647185. 1
92090647186. 2
92090647187. 3
92090647188. 4

Question Number : 98 Question Id : 92090611950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List—I with List-Il :

List— List—II
(Message Signal) (Nyquist Sampling
frequency)

(A)  m(t)=4sin2rx5x10%t - 3cos2nx8x 103t (1) 40kHz

(B) m(t)=2cos? 2nx10%t () 16 kHz
(C) m(t)=2sinc (2x10%t) (1) 6 kHz
(D) m(t)=5sinc?(3x103t) (IV) 20 kHz

Choose the correct answer from the options given below :

1. (AIV); B)-(lll); (C)=(I1); (D))

2. (A(); (B)AIL); (Cy(In); (D}(IV)

3. (A(I); (B)-(IV); (C)-(1); (D)-(1)

4. (A(I); (B)(1); (CH(IV); (D)=(lIT)
Options :

92090647189. 1
92090647190. 2
92090647191. 3
92090647192. 4

Question Number : 98 Question Id : 92090611950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & 1Y Gl 1 BT e Hifen

-1 (B W) g 1 (afrag amgf)
(A) m(t)=4sin27x5x103t-3cos2r7x8x10%t () 40kHz
(B) m(t)=2cos?2nx10% () 16 kHz
(Q mi(t)=2sinc (2x10%t) () 6 kHz
(D) m(t)=5sinc?(3x10%t) (IV) 20 kHz

1 feu U el A 9 el oW @1 A S

(N (A)-(1V), (B)-(11), (C)-(11), (D)-{I1)
() (A)-(1), (B)-(I), (C)-(1n, (D)-(IV)
(3) (A)-(1), (B)-(1V), (C)-(1), (D)-(IN)
(4) (A)-(11), (B)-(1), (C)-(1V), (D)-(11)

Options :

92090647189. 1
92090647190. 2
92090647191. 3
92090647192. 4

Question Number : 99 Question Id : 92090611951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=| with List=Il :

List-I List-Il
(A) Faraday's law )y V-B=0
(B) Ampere's law )y v-D=p
(C) No monopole (1) ?x.l-_,':j..;.‘i_f
(o)
= 0B
(D) Gauss's law (IV) VxE=- e

ot
Choose the correct answer from the options given below :
1. (A(IV); (Bl (C)=(1); (D)=(1)
2. (A)(ln); (B)-(IV); (C)-(1); (D)-(11)
3. (AR(IV); (BY=(1l); (C)-(1); (D)-(1)
4. (A (B)=(); (C)=(1); (D}-(1V)

Options :

92090647193. 1
92090647194. 2
92090647195. 3
92090647196. 4

Question Number : 99 Question Id : 92090611951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ol | & G = 1 & e i

G-I It -1l
W IS F1FEm m V.-B=0
(8) URRER &1 Fgw m v-D=p,
© TPy (1 vxﬁ:h%
D) Tied &1 Fam - @B
Ny WREosis
at
9 feu v fawedl § 9 T8l 3R &1 9 Sifor;

(1) (A)-(1V), (B)-(1), (C)-(, (L)-(1)
(2) (A)-(li), (B)-(IV), (C)-(N), (D)-(I)
(3) (A)-(IV), (B)-(IV), (C)-(1), (D)-(IN)
(4) (A)-(li, (B)-(), (C)-(N), (D)-(IV)

Options :

92090647193. 1
92090647194. 2
92090647195. 3
92090647196. 4

Question Number : 100 Question Id : 92090611952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=I| with List=II :

List- List-I
(Technology) (Range)
(A) Bluetooth () 10cmto200m
(B) LoRa (1) 10mto20 m
(C) RFID () 1mto 100 m
(D) ZigBee (V) 2kmto 15 km

Choose the correct answer from the options given below :

1. (A-(); B)I); (C)-(): (D)-(IV)

2. (A1) (Bl (Cy=(1): (D)-(1V)

3. (A(I); B-(IV): (C)=(1); (D)=(1)

4. (A-(V); (B)=(Il1); (C)=(1): (D)~(1)
Options :

92090647197. 1
92090647198. 2
92090647199. 3
92090647200. 4

Question Number : 100 Question Id : 92090611952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & 1y G 1 5 AaE S

e (@eh-ifd) Tl -1 (TR
(A) dqcy ) 10cm-200m
(B) LoRa (M 1M0m-20m
(C}y RFID (i 1m-200m
(D) ZigBee vy 2m-15m
-4 fou U el § 9 9dl I &1 99 i

(1) (A)=(1), (BY-(11), (C)-(1), (D)-(IV)
(2) (A)=(I1), (B)-(11), (C)-(1), (D)-(IV)
(3) (A)=(1}, (B)-(IV), (C)-(1), (D)-(ll)
(4) (A)-(IV), (B)-(lD), (C)-(11), (D)-(1)

Options :

92090647197. 1
92090647198. 2
92090647199. 3
92090647200. 4



